X,=96,31,Y,=99,99,7,782,24  B*

%,=0,3457y,=0,35807,,=0,2052 4 200 CIE02

Ag=(ag-30,) YI¥Yigl -

Bo=(bobo,) Y/[Y/Y1e]

ag=nZ4(1,000¢+0,000+0,002)/y] + 100

bo=ny[(0,000¢+0,000+1,008)/y} v
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%,=0,3457y,,=0,35892,=0,2952 1+ 200 CIE02

Ao=(ag=ap,) Y

Bo=(bg—bo,u) Y
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X,796,63,Y,7100,00Z,781,17  B*

><W=0,3478yW:0,3599%:O,2921 <+ 200 CIE10

Ag=(ag-30,) YI¥Yigl -

Bo=(bg—bo,) Y/[Y/Y1g]

ag=nZ4(1,000¢+0,000+0,002)/y] + 100

bo=ny[(0,000¢+0,000+1,008)/y}

n, =2,50,n, = -1,00 R *

n=D50 N N {G’C Ako

T T T >
-200 \{ 200
B,

A6y 7=475,503,574,494cEnm  T~100

Ostwaldcolours (0) Y,=100,00

max (m) chromatic value, D50

chroma A*g, B*o) T-200

X,=96,63,Y,,=100,002,~81,17 B,

*y=0,3478y,,=0,3599z,~0,2921 + 200 CIE10

Ao=(ag=ap,) Y

Bo=(bobo,) Y

ap=n,{(1,000¢+0,000+0,002)/y} 1 100

bo=ny[(0,000¢+0,000+1,008)/y} Y R

N, = 2,500, = 1,00 {q/c\ A

n=D50 X R . Ay
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Ostwaldcolours (0) Y,=100,00
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chromatic value4q, Bg) T-200
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X,796,46,Y,,7100,00Z,782,22  B*

%,=0,3461y,=0,35887,,=0,2050 4 200 CIEF02

Ag=(ag-30,) YI¥igl” -

Bo=(bobo,) Y/[Y/Y1e]

ag=nZ4(1,000¢+0,000+0,002)/y] + 100

bo=ny[(0,000¢+0,000+1,008)/y} v

n,=2,50,n, = -1,00 R *

n= D50 T, A

t t o3 ™t >

-200 \ 200

A6y =475,503,574,494cEnm 100

Ostwaldcolours (0) Y,=100,00

max (m) chromatic value, D50

chroma A*g, B*o) T-200

X,=96,46,Y,,=100,002,~82,22 B,

*y=0,3461y,,=0,35882,~0,2950 + 200 CIEF02

Ao=(ag=ap,) Y

Bo=(bg—bo,u) Y

ap=n,{(1,000¢+0,000+0,002)/y} 1100

bo=ny[(0,000¢+0,000+1,008)/y} \{

Na = 2,50, = ~1,00 (K(N? A

n=D50 X R N Ay

+ t >

200 \)C\‘ M 200

Mgy =475503,574,494cEnm T 100

Ostwaldcolours (0) Y,=100,00

max (m) chromatic value, D50

chromatic value4q, Bg) T-200

DE701-7R_pchartl=0_xcolorl=2(CIEF02) DE701-8A




X,=96,74,Y,=100,00Z,-81,03 B*

%,=0,3482y,,=0,36002,,=0,2917 %4 500 CIEF10
Ag=(ag-30,) YI¥Yigl” -
Bo=(bobo,) Y/[Y/Y1e]
ag=n;{(1,000¢+0,000+0,002)/s] 1 100
bo=ny[(0,000¢+0,000+1,008)/y} v
n, = 2,50,n, = -1,00 R
n=D50 ; R I A A
t t T wrt >
—200 200
N
A6y 7=475,503,574,494cEnm  T~100
Ostwaldcolours (0) Y,=100,00
max (m) chromatic value, D50
chroma A*g, B*o) T-200
X,=96,74,Y,,=100,00,2,=81,03 BO
*y=0,3482y,,=0,36002,~0,2917 + 200 CIEF10
Ao=(ag=ap,) Y
Bo=(bg—bo,u) Y
ap=n,{(1,000¢+0,000+0,002)/y} 1100
bo=ny[(0,000¢+0,000+1,008)/y} Y
Ny = 2,50, = -1,00 {(“\.\R A
n=D50 N N , W0
+ t t >
200 \)c\“) 200
B
Mgy =475503,574,494cEnm T 100
Ostwaldcolours (0) Y,=100,00
max (m) chromatic value, D50
chromatic value4q, Bg) T-200
DE701-7R_pchartl=0_xcolorl=3(CIEF10) DE701-8A




X,794,03,Y,,7100,00Z,780,83  B*

><W=0,3420yW:0,3638%:O,2941 <+ 200 R17TM
Ag=(ag-30,) YI¥igl” -
Bo=(bg—bo,) Y/[Y/Y1g]
ag=nZ4(1,000¢+0,000+0,002)/y] + 100
bo=ny[(0,000¢+0,000+1,008)/y}
ng = 2,50,n, = -1,00 Y «
n=D50 L T N\e, A
t t € >
-200 \ 200
B
A6y 7=475,503,574,494cEnm  T~100
Ostwaldcolours (0) Y,=100,00
max (m) chromatic value, D50
chroma A*g, B*o) T-200
X,=94,03,Y,,=100,002,~80,83 B,
*y=0,3420y,,=0,36382,~0,2941 + 200 R17TM
Ao=(ag=ap,) Y
Bo=(bg—bo,u) Y
ap=n,{(1,000¢+0,000+0,002)/y} 1 100
bo=ny[(0,000¢+0,000+1,008)/y} Y
n, = 2,50,n, = -1,00 ‘C\
n=D50 X R A Ao
+ t T t >
—200 200
B
Mgy =475503,574,494cEnm T 100
Ostwaldcolours (0) Y,=100,00
max (m) chromatic value, D50
chromatic value4q, Bg) T-200
DE701-7R_pchartl=0_xcolorl=4(R17M) DE701-8A




X,793,78,Y,7100,00Z,780.94  B*

%,=0,3413y,=0,36397,,=0,2046 4 200 R17Ms
Ag=(ag-30,) YI¥Yigl” -
Bo=(bobo,) Y/[Y/Y1e]
ag=nZ4(1,000¢+0,000+0,002)/y] + 100
bo=ny[(0,000¢+0,000+1,008)/y} v
n,=2,50,n, = -1,00 R *
n=D50 ; IV A
t t it >
-200 \\ 200
B
A6y 7=475,503,574,494cEnm  T~100
Ostwaldcolours (0) Y,=100,00
max (m) chromatic value, D50
chroma A*g, B*o) T-200
X,=93,78,Y,=100,002,~80,94 B,
%,=0,3413y,,=0,36392,=0,2946 1+ 200 R17Ms
A(ag-a0) Y
Bo=(bg—bo,u) Y
ap=n,{(1,000¢+0,000+0,002)/y} 1 100
bo=ny[(0,000¢+0,000+1,008)/y} Y
N, = 2,50, = -1,00 \; A
n=Ds0 ' ' } N
—200 C M 200
B
Mgy =475503,574,494cEnm T 100
Ostwaldcolours (0) Y,=100,00
max (m) chromatic value, D50
chromatic value4q, Bg) T-200
DE701-7R_pchartl=0_xcolorl=5(R17Ms) DE701-8A




